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QUESTION 1

Which of the following devices transmits data to all ports regardless of final destination?
A. Firewall

B. Router

C. Switch

D. Hub

Correct Answer: D

QUESTION 2

An outline of an image can be viewed on a laptop screen, but it is very dim and the screen appears almost black. This
can be caused by a failing. (Select TWO).

A. inverter.

B. LCD.

C. plasma screen.
D. CRT.

E. OLED.

Correct Answer:. AB

QUESTION 3

An administrator wants to prevent people outside of the building from accessing a new wireless router.
Which of the following is the LEAST labor intensive method to use while setting up new workstations?
A. Turn SSID broadcast off

B. Use wireless encryption

C. Institute MAC filtering

D. Setup static IP addresses

Correct Answer: A
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QUESTION 4

A standard Internet mail account receives incoming messages on which of the following ports?
A. 80

B. 110

C. 143

D. 443

Correct Answer: B

QUESTION 5

A technician performed a clean install of Windows XP on a laptop and finds that the Bluetooth on/off switch is not
working.

Which of the following will BEST resolve this issue?

A. Replacing the keyboard

B. Installing service pack 3

C. Reinstalling the operating system with Windows XP Media Center
D. Installing the Bluetooth stack/driver

Correct Answer: D
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